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QUESTION 1

Identify three types of Item Quantities displayed in the Work Order History tab.
A. Scrapped Quantity

B. In Process Quantity

C. Remaining Quantity

D. Total Quantity

E. Completed Quantity

Correct Answer: ACE

QUESTION 2

In a manufacturing plant, the work definition and rate plans of Material, Resource, and Overhead of an assembly have
been defined as required. A cost accountant created different scenarios to represent different manufacturing and cost
assumptions and compare the results. When the cost assumptions are finalized, the cost accountant is expected to
publish the cost scenario to cost accounting. Identify three process steps that the cost accountant has to perform to
transfer the assembly to cost accounting in frozen type.

A. Publish cost planning scenario to Accounting.

B. Build cost planning scenario and perform cost roll up.

C. Create Accounting Distributions.

D. Transfer transactions from production to Costing.

E. Define a cost planning scenario with Material, Resource, Overhead cost plans, and work definition.

F. Transfer Transactions from Inventory to Costing.

Correct Answer:. CEF

QUESTION 3

A user wants to transfer the work order status updates and resource transaction data for costed resources
to Cost Management.

Which scheduled process should you run to achieve this requirement?

A. Transfer Cost to Cost Management

B. Transfer Transactions to Costing
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C. Transfer Ledger Balances
D. Transfer General Ledger Balances to Balance Cubes

Correct Answer: A

QUESTION 4

Your customer is a light assembly manufacturing company that doesn\\'t require shop floor control. A manufacturing
engineer wants to generate a work definition automatically for some items, and wants to eliminate the explicit
maintenance of work definitions. Which three steps must be completed and verified in the Work Definition area?

A. Ensure the predefined work definition name ORA_MAIN name is active.

B. Select a resource that is to be used in automatic work definition by enabling the attribute Default for automatic work
definition.

C. Select a standard operation that is to be used in automatic work definition by enabling the attribute Default for
automatic work definition.

D. Ensure the item is a standard item with a secondary item structure.
E. Ensure there is only one default standard operation at a given point in time.

Correct Answer: ACD

QUESTION 5

A production Operator is executing work order in your plant. After completing move transactions, he notices that he has
performed some incorrect move operations, including incorrect scrap and reject transactions. He is required to perform
a reverse transaction to correct the errors. The operations are not count point enabled and not auto charged. Identify the
four transactions to correct this situation.

A. Reverse from reject to ready.

B. Reverse from scrap to ready.

C. Reverse resources charged to a work order.

D. Reverse material issued to a work order.

E. Reverse at an operation.

F. Reverse the product at the last operation.

Correct Answer: ABCD
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